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Answer Question No. 1 which is compulsory

1.  Answer the following questions :

(@)

(b)
(c)
(d)
(e)

(f)
(9)
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the rest.
The figures in the right-hand margiR

2x10

Explain how voltage source with a source resistance can be converted into

an equivalent current source.

State the advantages of sinusoidal alternating quantity.

List any two advantages of 3-phase system over 1-phase system.
Does transformer draw any current when secondary is open 7 Why ?

Why the armature core in d.c machines is constructed with laminated steel

sheets instead of solid steel sheets ?
What is the function of capacitor in a single phase induction motor ?

A stereo amplifier is producing 50 W of output power. How much power
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input is required if the amplifier is 30 percent efficient ?
What do you mean by magnetism and magnetic field ?

Why do electric lines of force never cross ?

(j) If a capacitor of 0.05mfd in series circuit provides a resonant frequency of
833 kHz, what is the value of the indu 7
2. (a) Amildsteel ring has a mean diaghejér of 160 ;?gt nd cross section area of
300 mm?. Calculate the mmfireguired to prpgdyce a flux of 3331 Wb,
reluctance and relative permeab sy 5
The B-H data given below :
B(T) 09 11 12 13
H(AT/m) 260 450 600 820
(b) Explain the working principle of A/D conversion. 5
3. (a) Atransformerwith 40 turns on the high voltage winding is used to step down
the voltage from 240V to 120V. Find the number of turns in the low voltage
winding. 5
(b) Derive the expression for series resonance. 5
4.  Write short notes on any two of the followings : 5x2
(a) Powerfactor
(b) Alternator
(c) Thevenin's theorem
(d) Maximum power transfer
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5. What do you mean by average and rms value of a signal ? Determine the rms
value and average value of the signal shown in the figure below : 10

Ht) (A)

6. (a)

(b) What are the conditions to be fulfilled by for a dc shunt generator to build
back emf ? 3

7. (a) Derivethe expression for the capacitor voltage in the circuit given below : 5

10" e

S =

Ve — [
T ift) !
|

(b) Explain the principle of operation of DC Motor. 5
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8. (a) A 400V is applied to three star connected identical impedances each

consisting of a 40 ohms resistance in serigs with 3 ohm inductance

reactance. Find
(i) line current
(i) Total power supplied. 5

(b) A three phase electric oven has a phase resistance of 10 ohm and is
5
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